12n0498 (K12n0428)

Linearized knot diagam

o ) e R

§ 12 2 10 5 12 7 8 4 10

3
1\\/&/ Solving Sequence

) 2,6 > 310»7~>1—>5*>8—>9%12%4%11%637687010
A knot dlagranﬂ €1 C C7  Cg Ci2 €4 C11

Ideals for irreducible component#ﬂ)f Xpar

I = (3309761832986841u® — 484169443496906u2" + - - - 4 2728407209023967b + 10346261032522342,
6.12347 x 101542 — 3.65447 x 105427 4 ... 4 2.72841 x 10%%a + 3.93244 x 1016, u® — 28 + ...
Y = (13u™® + 7?4+ 4+ b — 29, 2240 + 105u'? 4 -+ - + a — 480,
M50t a4 1100 — 40® — 1368 + U 4 8u® — 100® — ut 4+ 10u® — 2u® — 3u + 1)

* 2 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (3.31 X 10"°u?® — 4.84 x 10427 4. .- 4+ 2.73 X 10'5b 4 1.03 x 106, 6.12 X
1015428 —3.65x 1054?74 . .4-2.73x10%%a+3.93 10, u??—u?®+...+11u—1)

(i) Arc colorings
1
ag = 0
ag =
az =

—2.24434u?8 4+ 1.33942u%7 + - - - 4+ 45.0118u — 14.4130 )
ajp =

—1.21307u?® 4+ 0.177455u27 + - - - 4+ 17.9088u — 3.79205
3.72446u%® — 1.92791u%” + - - - — 66.8278u + 18.8763 >

a7 = \1.69382u2% — 0.176481u%" 4 - - - — 18.8053u + 4.46366
—u?+1
a’l = _u4

ag =

1.66563u%® — 0.212920u2" + - - - — 19.8460u + 4.74286

—8.80217u?8 4 2.99230u%7 + - - - 4+ 150.634u — 40.2378
—5.79123u%8 — 0.238662u%7 + - - - + 64.3246u — 11.6085

—5.43646u%8 + 2.41208u%7 + - - - 4+ 107.030u — 28.7016
—2.54933u28 — 0.164013u?7 + - - - + 33.7253u — 7.14216

2.50984u® — 6.17071u?" + - - - — 123.703u + 44.9330
as = \ =2.45081u?® — 2.07795u*" + - - - — 2.61459u + 7.33026

( 11.3793u?8 — 5.86912u2" + - - - — 218.129u + 62.4454 )
ajl =

3.69627u%® — 1.96435u" + - - - — 67.8684u + 19.1555 >

ag =
a1z =

(
(
(
(
(
u- (1)
(
(
(
(

6.01027u?® — 0.499882u*7 4 - - - — 76.2473u + 16.4335

(ii) Obstruction class = —1

(iii) Cusp Shapes
— _29606274479465, 28 _ 112181565603524,,27 | _ T9763733552791, _ 508359165202078
= 7 94083007207723 94083007207723 94083007207723 94083007207723




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u? +23u® 4 4 5Tu 41

Ca,Cx u? 4 1lu+ 1
€3 u?® +2u? ... — 5120 — 181

C4,C11 u? +3uB 520417

C6,Cy u? +6u +. —3u—1
7 u?® —3u® ... —343u— 73
cs u?® 4+ 3u®® + ... — 802u — 61
C10 u? — 20 + -+ + 306u + 17
c12 u? — 13u®® + - — 419u — 617




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

‘@ y?? —27y® + .. + 3781y — 1

2,5 y? =23y .. 45Ty — 1
€3 v — 66y%% + - - 4 773288y — 32761

C4,C11 y? — 47y*® + ... + 3350y — 289

C6, Cy 20 + 30y + -+ 5y — 1
cr y?? — 9y*® + - -+ 4+ 108013y — 5329
c8 y?? — 53y?® + ... 4+ 159352y — 3721
c10 y? — T4y*® + ...+ 76942y — 289
c12 v — 79y + ... — 73773123y — 380689




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.847490 4 0.6079471
a = —0.422315 — 0.3735111
b= —0.453967 — 0.1412901

1.85694 + 2.410241

—0.38198 — 1.830001

u = —0.847490 — 0.6079471
a = —0.422315 + 0.3735111
b= —0.453967 4 0.1412901

1.85694 — 2.410241

—0.38198 + 1.830001

u = 0.071949 4 0.9294881
a= 1.55015 + 0.378401
b= —0.033988 + 0.4047151

—5.90516 — 1.349401

—11.77988 4+ 1.167241

u = 0.071949 — 0.9294881
a= 1.55015 — 0.378401
b= —0.033988 — 0.4047151

—5.90516 + 1.349401

—11.77988 — 1.167241

u = 1.099740 4 0.3729871
0.429259 — 0.3143501
b= —0.496131 + 0.1723601

a =

—2.13143 — 3.616701

—10.87499 4 4.531471

u = 1.099740 — 0.3729871
a= 0.429259 + 0.3143501
b= —-0.496131 — 0.1723601

—2.13143 + 3.616701

—10.87499 — 4.531471

u = —0.071629 + 1.1666301
a = —1.42014 + 0.382581
b= 0.0590394 — 0.07001901

—17.8156 + 5.47881

—11.43005 — 2.275541

u = —0.071629 — 1.1666301
a = —1.42014 — 0.382581

—17.8156 — 5.47881

—11.43005 + 2.275541

b= 0.0590394 + 0.07001901
u = —1.20779
a= 1.06012 —5.45443 —17.0500
b= 0.608535

u = —1.241400 + 0.1777211
a= 0.09350 —1.461081
b= —0.13368 — 2.497321

—4.23135 4 3.903491

—13.5060 — 7.19741




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —1.241400 — 0.1777211
= 0.09350 + 1.461081
= —0.13368 + 2.497321

—4.23135 — 3.903491

—13.5060 + 7.19741

0.607700 + 0.4161921
= 0.030334 + 0.1706851
= 0.768475 — 0.1096741

—0.645013 + 0.1140151

—8.30235 — 0.442171

= 0.607700 — 0.4161921
0.030334 — 0.1706851
= 0.768475+ 0.1096741

—0.645013 — 0.1140151

—8.30235 + 0.442171

= 1.264620 + 0.0971731
= 0.126127 4 0.9755671
= 0.45216 + 2.480131

—4.42915 4 0.227121

—13.77800 + 0.542371

= 1.264620 — 0.0971731
= 0.126127 — 0.9755671
= 0.45216 — 2.480137

—4.42915 — 0.227121

—13.77800 — 0.542371

1.27084
a = —2.54450
b= -2.41619

—14.6938

—21.3900

u = —1.35314
a = —0.122473
b= 1.92297

—15.8953

—17.3790

u= 1.288070 + 0.4322331
a = —0.52667 — 1.404041
b= —-0.52972 — 2.416141

—9.72617 — 3.556281

—15.1648 + 2.50041

u= 1.288070 — 0.4322331
a = —0.52667 + 1.404041
b= —-0.52972 + 2.416141

—9.72617 4 3.556281

—15.1648 — 2.50041

u = —1.36698 4 0.390831
a= 0.056520 + 1.0827301
b= —0.25816 + 2.575381

—10.50180 + 6.081461

—14.9405 — 3.97531




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —1.36698 — 0.390831
a= 0.056520 — 1.0827301
b= —0.25816 — 2.575381

—10.50180 — 6.081461

—14.9405 + 3.97531

u= 0.529556
a = —0.279573
b= 0.469661

—0.808015

—11.9270

u= 143624+ 0.533161
a= 0.045983 + 1.3420107
b= —0.02188 4- 2.713571

16.8944 — 11.50661

—13.6242 4 4.65441

u= 143624 — 0.533161
a= 0.045983 — 1.3420101
b= —0.02188 — 2.713571

16.8944 + 11.5066.1

—13.6242 — 4.65441

u = —1.40063 + 0.621431
a= 0.391966 — 0.9737461
b= 10.84600 — 2.060541

17.5554 + 0.88941

—13.74018 — 0.793521

u = —1.40063 — 0.621431
a= 0.391966 + 0.9737461
b= 0.84600 4 2.060541

17.5554 — 0.88941

—13.74018 4- 0.793521

u = —0.024136 + 0.3786981
a = —2.54654 — 0.611751
b = —0.009603 4 0.3520251

—0.56395 — 1.714301

—3.16058 + 4.197091

u = —0.024136 — 0.3786981
a = —2.54654 + 0.611751
b = —0.009603 — 0.3520251

—0.56395 4 1.714301

—3.16058 — 4.197091

u = 0.128440
a = —9.72992
b= —1.96207

—11.0443

—5.88640




II. I* = (13u!3 4+ 7ul2 + ..
2

-4+ b—29, 224u'® +105u'? + ..

5ul? + ... —3u+1)
(i) Arc colorings
1
ag =
o= ( )
0= ( )
—224u'3 — 105u!? + - - - — 415u + 480
—13u'® —7ul2 4+ ... — 294 + 29
—143u!3 — 67u'? + - - - — 263u + 304
ar = 67ul® + 32u'? + -+ + 129u — 145
—u? + 1
a; =
U
a5 = U
—189u'® — 8942 + ... — 350u + 403
ag = 21u'® + 10u'? + - - 4+ 42u — 46
—143u!® — 67u'? + - - - — 268u + 306
ag = —8ul® —5ul? + ... —25u 421
—98u!'3 — 46u'? 4+ - — 178u + 210
—22u1% — 10u'2 4+ --- — 35u + 44
130u13 63ul? 4 - — 249y + 284
—2u'? —4ul? 4+ .. — 20u + 12
62u'® 4+ 30u'? + - - + 114w — 133
ainr =\ —13u®® — Tu!? + ... — 35u + 31
(ii) Obstruction class =1
(iii) Cusp Shapes = 254u'? + 120u!? — 1214u!t — 319019 + 2647u® + 232u8 —

3201u7 + 272u8 + 2171u5 — 1523u* — 980u® + 2088u? + 476u — 559

++a— 480, u't —



(iv) u-Polynomials at the component



Crossings

u-Polynomials at each crossing

c1 u' —10u™® + - — 13u+ 1
2 utt —5ut? 4~ 3u+1
cs ut +u'® 4+ 50u — 25
€4 ut —2ul - 2u— 1
Cs u —5u'? + 4+ 3u+ 1
Cé RE S BT S|

7 w4 2ul 4 -1

Cs w4 4ut o 2u 1

Co ut et~ Tu 1

10 w4 15u'® + -+ + 1248u + 169
c11 Wt 2P 4 2u—1
c12 u 4 6ut® 4 4 215u + 25

10
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

“ Yy — 6y 4 45y 41

2,5 g =10y 4 — 13y + 1
€3 Yt — 13y + .- + 4600y + 625

C4, C11 gt =18y 4 42y 41

Ce, Co yM Ty 1Ty 1
cr 8y b Ty 1
Cs gt =16y o —8y+1

c10 Yt — 9y’ ... — 67938y + 28561

C12 y't —22y"3 ... — 5325y 4 625
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.835923 4 0.6810481
a = —0.125313 — 0.2069961
b= —0.446348 + 0.3975631

1.26701 + 2.629451

—13.2524 — 5.21081

u = —0.835923 — 0.6810481
a = —0.125313 + 0.2069961
b= —0.446348 — 0.3975631

1.26701 — 2.629451

—13.2524 + 5.21081

u = 0.345551 4 0.8387091
a = —1.020240 — 0.7153511
b= —0.243705 — 0.0984951

—2.18681 — 1.219391

—11.09554 + 1.934581

u = 0.345551 — 0.8387091
a = —1.020240 + 0.7153511
b= —0.243705 + 0.0984951

—2.18681 + 1.219391

—11.09554 — 1.934581

u = —1.22266
a= 1.67303
b= 10.728923

—13.8048

—11.3860

u = 1.244710 4 0.1381831
a = —0.311608 — 0.9370541
b= 0.34348 — 2.092891

—4.37404 — 2.524841

—15.1413 + 2.03851

u = 1.244710 — 0.1381831
a = —0.311608 + 0.9370541

—4.37404 4- 2.524841

—15.1413 — 2.03851

b= 0.34348 + 2.092891

u = —0.727304

a= 1.73201 —11.7805 —17.4240
b= 1270193

u = 1.124850 + 0.6728541
a= 0.314703 + 0.7477991
b= 0.580657 4 1.2337501

—4.34890 — 4.369271

—12.83000 + 4.035201

u = 1.124850 — 0.6728541
a= 0.314703 — 0.7477991
b= 0.580657 — 1.2337501

—4.34890 4 4.369271

—12.83000 — 4.035201
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = —1.372300 + 0.3284981
—0.239034 — 1.2752401
b= —0.26688 — 2.255181

—7.44862 4 5.207401

—13.30820 — 4.115761

uw = —1.372300 — 0.3284981
a = —0.239034 + 1.2752401
b= —0.26688 + 2.255181

—7.44862 — 5.207401

—13.30820 4- 4.115761

= 0.468087 + 0.0012901
= 0.67897 — 1.747061
b= —0.682627 — 0.1044151

S
|

S

—1.36973 — 1.508971

—13.46764 4 1.983991

0.468087 — 0.0012901
0.67897 + 1.747061
—0.682627 4 0.1044151

u
a
b

—1.36973 4 1.508971

—13.46764 — 1.983991

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u'* —10u™ 4 - = 13u + 1) (u® + 230 + -+ 57Tu + 1)
€2 (u* —5u'? - = 3u+ 1) (W +u® -+ 1lu+ 1)
€3 (u** 4 u' 4 -+ 50u — 25) (u?® 4 2u®® + - - — 512u — 181)
€4 (u* —2u" + - —2u — 1) (u® + 3u®® 4 - + 52u + 17)
& (u* —5u'? -+ 3u+ 1) (W Fu® - 1w+ 1)
6 (u* —u® 4 Tu+ 1) +6u - —3u—1)
€7 (w4 2u™ - u— 1) (0 — 3u®® + - — 343u — 73)
c8 (u* 4 4u'® - 2u 4 1) (6 + 3u® 4 - — 802u — 61)
o (w4 u® 4 = Tu+1)(u® +6u* - —3u—1)
c10 (u'* + 15u™® 4+ -+ + 1248u + 169) (u? — 2u®® + - - - + 306u + 17)
11 (w4 2u"® - 4 2u — 1) (u?® + 30 + -+ 520+ 17)
c1a (u* +6u'® + -+ 215u + 25) (u? — 13u® 4 - - — 419u — 617)

15




IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (' = 6y"% 4 - — 45y + 1)(y* — 279> + - 43781y — 1)
¢, C5 (" =10y + - =13y + D(* — 23y + -+ 57Ty — 1)
cs (y'* — 13y" + - + 4600y + 625)
- (y* — 66y*® + - .- + 773288y — 32761)
Ca,C11 (y —18y1% + - 4 2y + 1) (y*° — 47y* + - - - + 3350y — 289)
C65 Co (W 7y 4 = 1Ty + D) (Y + 30y -+ 5y — 1)
cr (y" +8y" + -+ Ty + 1)(y*° — 9y°° + -+ + 108013y — 5329)
C8 (' — 16912 + - — 8y + 1)(y*° — 53y*® + - - - + 159352y — 3721)
c10 (y'* — 9y’ + - — 67938y + 28561)
(y* — Tdy® 4 -+ 76942y — 289)
1 (y'* — 22913 + ... — 5325y + 625)

(% — 79y + - - — T3773123y — 380689)
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